
MATH 152 Quiz #6 03/08/2005 

Name______________________________________ 
 
Early one morning, the police discovered the bodies of a man and a woman in the patio of 
a house.  The temperature in the patio had been a constant 40°F since the night before.  
When the bodies were discovered, the temperature of the man’s body was 65°F, and the 
temperature of the woman’s body was 70°F.  An hour later, the temperature of the man’s 
body was 60°F, and the temperature of the woman’s body was 65°F. 
 

1) Assuming the man’s body temperature was 98.6°F when he died, how long 
had he been dead when the police found the bodies (to the nearest tenth of an 
hour)? (5 points) 
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2) Assuming the woman died at the same time as the man, what was her body 
temperature when she died (to the nearest tenth of a °F)? (5 points) 
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section 16 derivatives of exponential and logarithm functions 
section 17 applications of exponential functions 


